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I In a study to determine whether gender affects sulary offers for graduste MBA students. Let
A (in thousands of doliars) denote the annual salary for female, and ¥ the annoal salary for

male, with E(X)m g, E(¥)=u, and Var(X)=Far(¥)=o’. 30 female students and 36
male students are selected with x=28, y=207, =3 md & =4,

{2). Set up the null hypothesis and the alternative hypothesis. . {5%)
(b} What is your conclusion, with type I error probability o = 0,057 (5%)
{c). p-value=? {3%)

[I. The chief financial officer in & company believes that including a stumped seli~addressed
(SSA) envelop in the menthly invoice sent to customers will decrease the amount of time it
take for customers 1o pay their monthly bills. Currenily, customers return their payments in
26 days on the average, with a standard deviation of § deys. They believe that an
improvement of 3 days on the average will eover the costs of envelops, Let g denote the
mean return time of payment with S5A envelops. A random sample of 225 customers was
selected and SSA envelops were included with their invoice packs.

{a). Set up the null hypothesis and the alternative hypothesis. i (5%}

(b). Find the rejection region with type [ error probability e = 0,05, (5%)

(c). What is the probability that the chief officer belief's will be accepted, when p=225
(3%%5)

[II. How well do airline companies serve their customers? A study showed the customer rating:
% excellent, 28% good, 45% fair, and 24% poor. In a [ollow-up study of service by
telephone companies, #ssume that a sample of 400 adults found and the following customer
rating: 24 excellent, 124 good, 172 fair, and B0 poor, Is the distribution of the customer
ratings for telephone companies different from the distribution of customer rating for wirfine

companies?
(a). Set up the null hypothesis and the altemative hypothesis. . (5%)
(b). What is your conclusion, with type | error probability e = 0,057 (15%)

IV. A car dealer wants to find the refationship between the odometer reading (x) and the

ikl
selling price {y) of used cars. A regression line, y=a+f+£, & —NI{D.:r’:I. Let &
denole the least square estimate of 4,

(a), bm? (5%
(h). E{b) =" (Sketch the proofl) (59)
(£} Far{d#)=7 (Skeich the proofT) (3%)

V. A trucking compuny whose major business involves deliveries throughout its local ares. To
develop befter work schedule, the managers want o estimate the total daily travel time for
their drivers. The manager believed that the total daily travel time would be closely related
b the number of mles traveled and the number of deliveries. A simple random semple of 11
driving assignment is provided and a multiple regression mnalysis are performed. The

regression equation is
#iEE




